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Q- Write the correct option i.e. A, B, C or D in the empty box provided opposite to each part,
i The maller of our sun isin ......... state. "~ A Ljguid B. Gas C. Solid D. Plasma [0]
ii.  Distance covared in unil time is called...... A Speed B. Velocily C. Acceleralion D. Gravily
iii.  Which of the given is nol an example of the rotatory A. Molion of wheel B, Motion of - C. Motionof D, Motion of lop c
~ motion? : of acar ' blades of a fan pendulum -
_iv. . What do we call the pull of gravily on an object? -A: Donsity B. Momentum C. Weight ~  D. Mass | ¢ l
V. The formula for calculating the moment of force is...... A. Force x B. Force x C. Force D. Force x area
o parpendicular distance meved. ——— ' R
. . distgnoe ) © area )
vi. . When centripetal force ceases fo act, the cenlifugal force A. Maximum B. Minimum C. Zero . D. None of these c
becomes ....... : 7 _
vii. In Sl system the unit of poweris ........ A. Newlon - B. Watt C. Joule D. None of these | (X, ]
Force per unit area is called...... A. Density B. Strain 'C.Pressure D, None of these [c]
. The unil of slrainis....... A-Nm - B. Nm? c.J 0. None of lhesej ﬁ |
X. Whish of lhe given produces more severe burns? A, 'Boillng waler B. Sun rays ’ C. Stéam ) D Hot air [jc:l
xi. Dark, rough surface are generally good for......... A Conducton  B. Radlatlon C. Convaction - D, Reflection [%]
xil.  Which one is lhe best heal conduclor? A. Copper - C. Softiron - D; Norie of !hgsem
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Section-B ‘  Marks: 32

Q-it Answer any EIGHT parts. Each part carrles FOUR marks.
R Why area is called. a derived quaniity? .
"2, - A& ball thrown vertically upward with an initial speed of 5ms -t . What wItI tts speed be when tt
. .. returns o its starting point. {in the absendcéd of alr resrstance)
©* Mass of a body ls 10 kg. What is its wéight? .
" Why are the long jump athietes mada to Jump’ |n qand ptts? )
* Why does’a helicopter has a second rotor onitstall? -
:" What will be the weight of a body if it is ralsed above the earth equal tolts’ radrus?
What happens fo the kinetic energy ofa bullet when it penetrates tnto a sand bag? ;
. State and explain Hooke's'Law, & : -
Temperatire of anobject Is 250 k ‘Find- tts temperature in centrgrade o
0. .- Why steam at 100° C produces more gevere burns than boiling water at 100 c.’
1. Why white clothes are preferred waearing In ‘summer? Explaln brlefly

A*@mﬂ¢@éﬁ“

Section-C c ‘Martrs: 21"

Note : Attempt any THREE quest|ons Al questions carry equal marks

G-l (a) Acar starts from rest and moves with uniform acceleration of 0.3 misec?, After 305 ttnd the .
velocity of the car and distance covered, :

(b) Describe advantages and disadvantages of Friction. -
Q IV (a) Describe Newton's Law of Universal Gravitation.
~ (b) -~ State and explain the faw of conservation of energy with help of example
: QV (a)~ Describe how weather changes with atmospheric pressure. -
- (b) The temperature ofa normal hurnan body Is 37° C. Find this termperature on the Fahrenheit scale.

Q-VI {a) 0.5 kg cupper needs’ 1950 J of heat to ratse tts temperature up to 10° C. Caloulate the heat
. capachty of sample.

(h) Explaln conductron of heat. Describs its three applications
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